[ Efficien

cy vs vertpos |

~ 0.5

20.45
(2]
Z 04

0.95

1072

107 1

10 0?
TP vertr (cr%)

[—=— DQM_VUUUI_RUUU0U000UI__Global__CMSSW_oTig
—e— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z__all7

ici —— DQM_V0001_R000000001__Global__CMSSW_hpt08
[Efficieng EvSSW-dtos

—— DOM_V0001_R000000001__Global

~ 0.5

2 0.45

n

> 0.4F
>

2

S 0.35F
0.3F

0.25F
0.2

0.15F
0.1+

0.05F
e

ettici

Ratio
N
T

...... ¢¢¢¢°"“""°¢¢¢

...... +

______ g

..?i*fﬁ}*#iuuuuluuuul

O
||||||5||||||

0.95!

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

B U S O A S
...............................
++ -o-w“- e
4+ {>
e TR
......
T P | |
e
T

N 0.5p
> E
D—_ 0.45:—
e E
D 0.45—
20.35F
L>)~ E
c 0.3F
[©] o
[} F
£ 0.25
£ E
0.2}
0.15F
0.1
0.05F
o ~of
T i
r [
0255

-5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


